Instrument Expert
Original factory packaging

':h DOrRG=EAN

Beijing Dorgean Electronic Technology Co. Ltd

www.dorgean.com
4 N
R MODEL 05106 WIND MONITOR - MA Jan 2023
k* (MARINE MODEL) o

| vounc REPLACEMENT PARTS )
PARTNO.  DESCRIPTION PRICE (US) |
05106 WIND MONITOR-MA (CERAMIC BEARINGS) .......ccouviimmiiiieeesineessssseesssseess s $ 1260.00
05123A-01  MOUNTING POST .....ooooieiiiiieiessaeeesseeeesse s 142.00
05123A-03  CABLE 3 METER (9.6 FEET) W/STRAIN RELIEF ASSY .......oorvoeoreeeeeeeecoeseoeoeeeeeeeeeessoesesseessesesssesesnenes 136.00
05140 CERAMIC VERTICAL SHAFT BEARING = 2 REQD .......ovooovoeeoeeooeseseseeesooeesssoee s 45.00
05127 MAIN HOUSING LATCH w...oooovoooeecoiceeoe oo 7.00
05128B ORIENTATION RING.......cooovvosieieoaeeieseeess s 16.00
05129 BAND CLAMP = 2 REQID.........cocommieietiieeisseeesseeesss s 5.00
05131D POTENTIOMETER HOUSING ........coouiotiaeisiaeieseeiesseeiss s 20.00
05134 POTENTIOMETER - 10K 1/4% LIN COND PLASTIC W/EXT SHAFT EXT.....coorrvvvriireeecoonneeeeseneeeenese 190.00
05136 VERTICAL SHAFT BEARING ROTOR .......ooovomimivieoeeeeeseesessseee oo 40.00
05138A POTENTIOMETER COUPLING ........ooovvoooeeeeooeeeoeeeseoeeeeesse s 14.00
05139 POTENTIOMETER ADJUST THUMBWHEEL........coomvoooaiieoaeeecoeeeieesss e 14.00
05145C POTENTIOMETER MOUNTING AND COILASSY .....ccomviimmieimieesinesssseesssssessseesssssesss s esssssssssssoos 68.00
05154 MAIN HOUSING & TAILASSY .....ooooieeoieeisieeessees s 134.00
05158 NOSE CONE O-RING ....oooreveeiiamieeessinseeeessssssesssss s 4.40
05166 NOSE CONE ASSY w....oooooooieeieiieeeesssse s 78.00
05185 6 POLE MAGNET & SHAFT COLLAR .......ooommveeeomeeesoeeeeseseessseesessse s 36.00
05186 CERAMIC FLANGE BEARINGS - 2 REQD ......cooouuuiieieesssaeeeeesssseessess s ssesss s 40.00
05184 PROPELLER SHAFT W / HUB .......cooovioioeisiaeiss s 59.00
05187 PROPELLER NUT (1/4-20) 1.....cooovvotoeeeoieeeesseeeessse s 3.80
05194 PROPELLER NUT WRENCH ......cooooovoeooeeeeoeceeeoee s 4.00
08234 PROP - 18 cm DIA X 30 ¢M PITCH-POLYPROPYLENE ........c.co.oooovvooeeeeeeseeeesseoeeeseees oo 46.00
18721 SENSOR CABLE — 6 COND, SHIELDED ............coorvoiireeeieeeeses oo PERFT 150
18502 FERRITE CHOKE ......coovootoeeeteeeet oot 5.00
05106-90 INSTRUCTION MANUAL ........ovooomeveraeeesoesesses s sessse s 16.00
00724-5100  WIND MONITOR MA CARTON W/DIE CUT INSERT ......cooivoiumriirieeesseeesseseseseesessesesss s 40.00
REPLACEMENT ASSEMBLIES FOR FIELD SERVICE
05123HD MOUNTING POST & TRANSDUCER ASSY
05130D TRANSDUCER ASSY ...
05168 NOSE CONE & PROPELLER SHAFT ASSY w......ooooivoooeroooeeeesoeeesossessssseess e sessssesesss s 228.00
CALIBRATION ACCESSORIES
05190 BEARING GAP GAUGE ........oooooveooeeeoeeeooee oo 3.60
05191 HEX WRENCH 1/16" .....oocoovoeoeeeeoe oo 3.00
18112 VANE ANGLE BENCH STAND.........ooomiriieiieeiesesssssesesssses s sssss s 280.00
18212 VANE ANGLE FIXTURE - TOWER MOUNT .......ocviommiiiiiniesieeessneesssesesseseess s 344.00
18310 PROPELLER TORQUE DISC .......oooumieoiaieisiaeeissesissesessss s 54.00
18331 VANE TORQUE GAUGE ........oooooormiirieeisseeessse st 130.00
18802 ANEMOMETER DRIVE (200 - 15,000 RPM) .........ovvoomeveeerreeoeeeesoeesessesesssessessses e seseesseesess oo 1336.00
MISCELLANEOUS HARDWARE
00320-0600PA SHT METAL SCR #6 X 3/8 PAN HD SS TYPE A ......oooommieoooieeeeessseeeeesss s N.C.
00321-0606F MACHINE SCREW 6-32 X 3/8 FLT HD SS ......ccouiivieimieeeeesineeeeesseseeeesssesseesssss e eesssssese s N.C.
00321-0607P  MACHINE SCREW 6-32 X 7/16 PAN HD SS.....co.ovooiveeomieeereseeeseseeeseeeeesoesesssesssssssesssessssssessesssssessssnenes N.C.
00324-0602  SET SCREW 6-32 X 1/8 SET SC SS ...urvvmumiviemareieiesesssseesssesessseseessss s esesssesessssessssssssssssenenes N.C.

BECAUSE OF CONTINUALLY CHANGING COSTS PRICES ON THIS PARTS LIST ARE
\ SUBJECT TO CHANGE. IF EXACT PRICING IS REQUIRED PLEASE CONTACT US. y
P/N: 05106-95 REV: E111522

R.M. YOUNG COMPANY 2801 AERO PARK DRIVE, TRAVERSE CITY, MICHIGAN 49686, USA
TEL: (231) 946-3980  FAX: (231) 946-4772  Email: met.sales@youngusa.com WEB: www.youngusa.com


https://dorgean.com/

OrRG=AN

Badjing Dorgean Electronic Technolagy Go. Litd

’:h

Instrument Expert

Original factory packaging
www.dorgean.com

p/, | GENERAL ASSEMBLY & REPLACEMENT PARTS
k* MODEL 05106 WIND MONITOR-MA

YOUNG

05194 PROPELLER NUT WRENCH
08234 PROPELLER - 18cm x 30cm (BLACK PP)

05186 CERAMIC FLANGE BEARING (2)

05166 NOSE CONE ASSY

05158 NOSE CONE O-RING

05185 6-POLE MAGNET
& SHAFT COLLAR

05187 PROPELLER NUT 1/4-20

05184 PROPELLER
SHAFT W/HUB

6-32 x 1/8 SET SCREW
(5 REQD)

05127 MAIN HOUSING LATCH R
6-32 x 3/8 FLAT HD SCREW

05136 VERTICAL SHAFT
BEARING ROTOR

00320-0600PA (6)
SHT MTL SCR #6 x 3/8"

05123A-03 CABLE &
STRAIN RELIEF )
@

@m)?
Nt

A\ Z

18502 FERRITE CHOKE

05154
MAIN HOUSING AND
TAIL ASSY - MA

00321-0607P (4)
6-32 x 7/16 PAN 'HD MACH SCR

05138A
POTENTIOMETER COUPLING

05139
POT ADJUST THUMBWHEEL

05130D TRANSDUCER ASSEMBLY

05145C POTENTIOMETER MOUNTING
& COIL ASSEMBLY

05134 POTENTIOMETER 10K
1/4% LIN, CONDUCTIVE PLASTIC
(WITH O-RING)

05140
CERAMIC VERTICAL
SHAFT BEARING

05123A-01
MOUNTING POST

05129
BAND CLAMP

05128B
ORIENTATION RING



https://dorgean.com/

